THERMOSLEEVE-USA CONFIDENTIAL FASTENAL DEALER PRICE SHEET JANUARY 1, 2020

The items listed on these pages represent our most popular series of tubing materials that are stocked in our Cerritos, California warehouse. Thermosleeve offers a vast selection of tubing products in various sizes, colors and put-up lengths an

and comes with a convenient \$25.00 minimum requirement. For all other part numbers listed in either our literature or on our website, please contact us by phone or e-mail for pricing and availability.

THERMOSTEEVE USA

THE TUBING SPECIALIST

| PART # | DESCRIPTION | UOM | UOM \$ | QTY | QTY \$ | PART # | DESCRIPTION | UOM | UOM \$ | QTY | QTY \$ |
|---------------------------|--|----------------|------------------|----------|------------------|-------------------------|---|----------|------------------|----------|--------------------|
| | | | | | | HST12X12W | HEAT SHRINK TUBING WHITE 1/2 | 1' | \$0.18 | 25 | \$4.50 |
| | | | | | | HST12X12Y | HEAT SHRINK TUBING YELLOW 1/2" | 1' | \$0.18 | 25 | \$4.50 |
| | | | | | | HST34X12BK | HEAT SHRINK TUBING BLACK 3/4" | 1' | \$0.34 | 25 | \$8.50 |
| | SINGLE WALL HEAT SHR | | | | | HST34X12BL | HEAT SHRINK TUBING BLUE 3/4" | 1' | \$0.34 | 25 | \$8.50 |
| | • 2:1 shrink ratio • UL & CS | | | | | HST34X12C | HEAT SHRINK TUBING CLEAR 3/4" | 1' | \$0.34 | 25 | \$8.50 |
| | • Shrink temp. 90-120 °C • | UL File E180 | 908 (except c | lear) | | HST34X12G | HEAT SHRINK TUBING GREEN 3/4" | 1' | \$0.34 | 25 | \$8.50 |
| | | | | | | HST34X12R | HEAT SHRINK TUB RED 3/4" | 1' | \$0.34 | 25 | \$8.50 |
| | | | | | | HST34X12V | HEAT SHRINK TUBING VIOLET 3/4" | 1' | \$0.34 | 25 | \$8.50 |
| | | | | | | HST34X12W | HEAT SHRINK TUBING WHITE 3/4" | 1' 1' | \$0.34 | 25 25 | \$8.50 |
| 1 | | | | | | HST34X12Y HST01X12BK | HEAT SHRINK TUBING YELLOW 3/4" HEAT SHRINK TUBING BLACK 1" | 1' | \$0.34 \$0.40 | 25 | \$8.50 \$10.00 |
| 1 FT CUT PIECES | • 1/16" to 3/8" 50 pieces per bag; 1/2" to 1" 2 | 5 nieces ner l | had | | | HST01X12BK | HEAT SHRINK TUBING BLACK T | 1' | \$0.40 | 25 | \$10.00 |
| TTTCOTTLEED | • 1/10 to 5/6 50 pieces per bag, 1/2 to 1 2. | pieces per i | oag | | | HST01X126L | HEAT SHRINK TUBING CLEAR 1" | 1' | \$0.40 | 25 | \$10.00 |
| HST116X12BK | HEAT SHRINK TUBING BLACK 1/16" | 1' | \$0.08 | 50 | \$4.00 | HST01X12G | HEAT SHRINK TUBING GREEN 1" | 1' | \$0.40 | 25 | \$10.00 |
| HST116X12BL | HEAT SHRINK TUBING BLUE 1/16" | 1' | \$0.08 | 50 | \$4.00 | HST01X12R | HEAT SHRINK TUBING RED 1" | 1' | \$0.40 | 25 | \$10.00 |
| HST116X12C | HEAT SHRINK TUBING CLEAR 1/16" | 1' | \$0.08 | 50 | \$4.00 | HST01X12V | HEAT SHRINK TUBING VIOLET 1" | 1' | \$0.40 | 25 | \$10.00 |
| HST116X12G | HEAT SHRINK TUBING GREEN 1/16" | 1' | \$0.08 | 50 | \$4.00 | HST01X12W | HEAT SHRINK TUBING WHITE 1" | 1' | \$0.40 | 25 | \$10.00 |
| HST116X12R | HEAT SHRINK TUB RED 1/16" | 1' | \$0.08 | 50 | \$4.00 | HST01X12Y | HEAT SHRINK TUBING YELLOW 1" | 1' | \$0.40 | 25 | \$10.00 |
| HST116X12V | HEAT SHRINK TUBING VIOLET 1/16" | 1' | \$0.08 | 50 | \$4.00 | | | | | | |
| HST116X12W | HEAT SHRINK TUBING WHITE 1/16" | 1' | \$0.08 | 50 | \$4.00 | 4 FT STICKS Ava | ailable in sizes from 3/64" to 1" ID7 | | | | |
| HST116X12Y | HEAT SHRINK TUBING YELLOW 1/16" | 1' | \$0.08 | 50 | \$4.00 | | | | | | |
| HST364X12BK | HEAT SHRINK TUBING BLACK 3/64" | 1' | \$0.08 | 50 | \$4.00 | HST364BK4 | HEAT SHRINK TUBING BLACK 3/64" x 4' | 4' | \$0.29 | 25 | \$7.25 |
| HST364X12BL | HEAT SHRINK TUBING BLUE 3/64" | 1' | \$0.08 | 50 | \$4.00 | HST364BL4 | HEAT SHRINK TUBING BLUE 3/64" x 4' | 4' | \$0.29 | 25 | \$7.25 |
| HST364X12C | HEAT SHRINK TUBING CLEAR 3/64" | 1' | \$0.08 | 50 | \$4.00 | HST364C4 | HEAT SHRINK TUBING CLEAR 3/64" x 4' | 4' | \$0.29 | 25 | \$7.25 |
| HST364X12G | HEAT SHRINK TUBING GREEN 3/64" | 1' | \$0.08 | 50 | \$4.00 | HST364G4 | HEAT SHRINK TUBING GREEN 3/64" x 4' | 4' | \$0.29 | 25 | \$7.25 |
| HST364X12R | HEAT SHRINK TUB RED 3/64" | 1' | \$0.08 | 50 | \$4.00 | HST364R4 | HEAT SHRINK TUB RED 3/64" x 4' | 4' | \$0.29 | 25 | \$7.25 |
| HST364X12V | HEAT SHRINK TUBING VIOLET 3/64" | 1' | \$0.08 | 50 | \$4.00 | HST364V4 | HEAT SHRINK TUBING VIOLET 3/64" x 4' | 4' | \$0.29 | 25 | \$7.25 |
| HST364X12W | HEAT SHRINK TUBING WHITE 3/64" | 1' | \$0.08 | 50 | \$4.00 | HST364W4 | HEAT SHRINK TUBING WHITE 3/64" x 4' | 4' | \$0.29 | 25 | \$7.25 |
| HST364X12Y | HEAT SHRINK TUBING YELLOW 3/64" | 1' | \$0.08 | 50 | \$4.00 | HST364Y4 | HEAT SHRINK TUBING YELLOW 3/64" x 4' | 4' | \$0.29 | 25 | \$7.25 |
| HST332X12BK | HEAT SHRINK TUBING BLACK 3/32" | 1' | \$0.10 | 50 | \$5.00 | HST116BK4 | HEAT SHRINK TUBING BLACK 1/16" x 4' | 4' | \$0.32 | 25 | \$8.00 |
| HST332X12BL HST332X12C | HEAT SHRINK TUBING BLUE 3/32" | 1' 1' | \$0.10 | 50 50 | \$5.00 | HST116BL4 | HEAT SHRINK TUBING BLUE 1/16" x 4' | 4' | \$0.32 | 25 | \$8.00 |
| HST332X12C | HEAT SHRINK TUBING CLEAR 3/32" HEAT SHRINK TUBING GREEN 3/32" | 1' | \$0.10 \$0.10 | 50 | \$5.00 \$5.00 | HST116C4 | HEAT SHRINK TUBING CLEAR 1/16" x 4' | 4' 4' | \$0.32 | 25 | \$8.00 |
| HST332X12G | HEAT SHRINK TUBING GREEN 5/32 HEAT SHRINK TUB RED 3/32" | 1' | \$0.10 | 50 | \$5.00 | HST116G4 HST116R4 | HEAT SHRINK TUBING GREEN 1/16" x 4' HEAT SHRINK TUB RED 1/16" x 4' | 4 | \$0.32 \$0.32 | 25 25 | \$8.00 \$8.00 |
| HST332X12K | HEAT SHRINK TUBING VIOLET 3/32" | 1' | \$0.10 | 50 | \$5.00 | HST116V4 | HEAT SHRINK TUBING VIOLET 1/16" x 4' | 4 | \$0.32 | 25 | \$8.00 |
| HST332X12W | HEAT SHRINK TUBING WHITE 3/32" | 1' | \$0.10 | 50 | \$5.00 | HST116W4 | HEAT SHRINK TUBING WHITE 1/16" x 4' | 4' | \$0.32 | 25 | \$8.00 |
| HST332X12W | HEAT SHRINK TUBING VELLOW 3/32" | 1' | \$0.10 | 50 | \$5.00 | HST116Y4 | HEAT SHRINK TUBING YELLOW 1/16" x 4' | 4' | \$0.32 | 25 | \$8.00 |
| HST18X12BK | HEAT SHRINK TUBING BLACK 1/8" | 1' | \$0.11 | 50 | \$5.50 | HST332BK4 | HEAT SHRINK TUBING BLACK 3/32" x 4' | 4' | \$0.34 | 25 | \$8.50 |
| HST18X12BL | HEAT SHRINK TUBING BLUE 1/8" | 1' | \$0.11 | 50 | \$5.50 | HST332BL4 | HEAT SHRINK TUBING BLUE 3/32" x 4' | 4' | \$0.34 | 25 | \$8.50 |
| HST18X12C | HEAT SHRINK TUBING CLEAR 1/8" | 1' | \$0.11 | 50 | \$5.50 | HST332C4 | HEAT SHRINK TUBING CLEAR 3/32" x 4' | 4' | \$0.34 | 25 | \$8.50 |
| HST18X12G | HEAT SHRINK TUBING GREEN 1/8" | 1' | \$0.11 | 50 | \$5.50 | HST332G4 | HEAT SHRINK TUBING GREEN 3/32" x 4' | 4' | \$0.34 | 25 | \$8.50 |
| HST18X12R | HEAT SHRINK TUB RED 1/8" | 1' | \$0.11 | 50 | \$5.50 | HST332R4 | HEAT SHRINK TUB RED 3/32" x 4' | 4' | \$0.34 | 25 | \$8.50 |
| HST18X12V | HEAT SHRINK TUBING VIOLET 1/8" | 1' | \$0.11 | 50 | \$5.50 | HST332V4 | HEAT SHRINK TUBING VIOLET 3/32" x 4' | 4' | \$0.34 | 25 | \$8.50 |
| HST18X12W | HEAT SHRINK TUBING WHITE 1/8" | 1' | \$0.11 | 50 | \$5.50 | HST332W4 | HEAT SHRINK TUBING WHITE 3/32" x 4' | 4' | \$0.34 | 25 | \$8.50 |
| HST18X12Y | HEAT SHRINK TUBING YELLOW 1/8" | 1' | \$0.11 | 50 | \$5.50 | HST332Y4 | HEAT SHRINK TUBING YELLOW 3/32" x 4' | 4' | \$0.34 | 25 | \$8.50 |
| HST14X12BK | HEAT SHRINK TUBING BLACK 1/4" | 1' | \$0.13 | 50 | \$6.50 | HST18BK4 | HEAT SHRINK TUBING BLACK 1/8" x 4' | 4' | \$0.43 | 25 | \$10.75 |
| HST14X12BL | HEAT SHRINK TUBING BLUE 1/4" | 1' | \$0.13 | 50 | \$6.50 | HST18BL4 | HEAT SHRINK TUBING BLUE 1/8" x 4' | 4' | \$0.43 | 25 | \$10.75 |
| HST14X12C | HEAT SHRINK TUBING CLEAR 1/4" | 1' | \$0.13 | 50 | \$6.50 | HST18C4 | HEAT SHRINK TUBING CLEAR 1/8" x 4' | 4' | \$0.43 | 25 | \$10.75 |
| HST14X12G | HEAT SHRINK TUBING GREEN 1/4" | 1' | \$0.13 | 50 | \$6.50 | HST18G4 | HEAT SHRINK TUBING GREEN 1/8" x 4' | 4' | \$0.43 | 25 | \$10.75 |
| HST14X12R | HEAT SHRINK TUB RED 1/4" | 1' | \$0.13 | 50 | \$6.50 | HST18R4 | HEAT SHRINK TUB RED 1/8" x 4' | 4' | \$0.43 | 25 | \$10.75 |
| HST14X12V | HEAT SHRINK TUBING VIOLET 1/4" | 1' | \$0.13 | 50 | \$6.50 | HST18V4 | HEAT SHRINK TUBING VIOLET 1/8" x 4' | 4' | \$0.43 | 25 | \$10.75 |
| HST14X12W HST14X12Y | HEAT SHRINK TUBING WHITE 1/4" HEAT SHRINK TUBING YELLOW 1/4" | 1' 1' | \$0.13 | 50 50 | \$6.50 | HST18W4 HST18Y4 | HEAT SHRINK TUBING WHITE 1/8" x 4' HEAT SHRINK TUBING YELLOW 1/8" x 4' | 4' 4' | \$0.43 \$0.43 | 25 25 | \$10.75 \$10.75 |
| HST316X12BK | HEAT SHRINK TUBING BLACK 3/16" | 1' | \$0.13 \$0.13 | 50 | \$6.50 \$6.50 | HST316BK4 | HEAT SHRINK TUBING FELLOW 1/8 X 4 HEAT SHRINK TUBING BLACK 3/16" x 4' | 4 | \$0.45 | 25 | \$10.75 |
| HST316X12BL | HEAT SHRINK TUBING BLUE 3/16" | 1' | \$0.13 | 50 | \$6.50 | HST316BL4 | HEAT SHRINK TUBING BLACK 3/10' X 4' | 4 | \$0.46 | 25 | \$11.50 |
| HST316X12DE | HEAT SHRINK TUBING CLEAR 3/16" | 1' | \$0.13 | 50 | \$6.50 | HST316C4 | HEAT SHRINK TUBING CLEAR 3/16" x 4' | 4 | \$0.46 | 25 | \$11.50 |
| HST316X12G | HEAT SHRINK TUBING GREEN 3/16" | 1' | \$0.13 | 50 | \$6.50 | HST316G4 | HEAT SHRINK TUBING GREEN 3/16" x 4' | 4' | \$0.46 | 25 | \$11.50 |
| HST316X12R | HEAT SHRINK TUB RED 3/16" | 1' | \$0.13 | 50 | \$6.50 | HST316R4 | HEAT SHRINK TUB RED 3/16" x 4' | 4' | \$0.46 | 25 | \$11.50 |
| HST316X12V | HEAT SHRINK TUBING VIOLET 3/16" | 1' | \$0.13 | 50 | \$6.50 | HST316V4 | HEAT SHRINK TUBING VIOLET 3/16" x 4' | 4' | \$0.46 | 25 | \$11.50 |
| HST316X12W | HEAT SHRINK TUB TUBING WHITE 3/16" | 1' | \$0.13 | 50 | \$6.50 | HST316W4 | HEAT SHRINK TUB TUBING WHITE 3/16" x 4' | 4' | \$0.46 | 25 | \$11.50 |
| HST316X12Y | HEAT SHRINK TUBING YELLOW 3/16" | 1' | \$0.13 | 50 | \$6.50 | HST316Y4 | HEAT SHRINK TUBING YELLOW 3/16" x 4' | 4' | \$0.46 | 25 | \$11.50 |
| HST38X12BK | HEAT SHRINK TUBING BLACK 3/8" | 1' | \$0.17 | 50 | \$8.50 | HST14BK4 | HEAT SHRINK TUBING BLACK 1/4" x 4' | 4' | \$0.50 | 25 | \$12.50 |
| HST38X12BL | HEAT SHRINK TUBING BLUE 3/8" | 1' | \$0.17 | 50 | \$8.50 | HST14BL4 | HEAT SHRINK TUBING BLUE 1/4" x 4' | 4' | \$0.50 | 25 | \$12.50 |
| HST38X12C | HEAT SHRINK TUBING CLEAR 3/8" | 1' | \$0.17 | 50 | \$8.50 | HST14C4 | HEAT SHRINK TUBING CLEAR 1/4" x 4' | 4' | \$0.50 | 25 | \$12.50 |
| HST38X12G | HEAT SHRINK TUBING GREEN 3/8" | 1' | \$0.17 | 50 | \$8.50 | HST14G4 | HEAT SHRINK TUBING GREEN 1/4" x 4' | 4' | \$0.50 | 25 | \$12.50 |
| HST38X12R | HEAT SHRINK TUB RED 3/8" | 1' | \$0.17 | 50 | \$8.50 | HST14R4 | HEAT SHRINK TUB RED 1/4" x 4' | 4' | \$0.50 | 25 | \$12.50 |
| HST38X12V | HEAT SHRINK TUBING VIOLET 3/8" | 1' | \$0.17 | 50 | \$8.50 | HST14V4 | HEAT SHRINK TUBING VIOLET 1/4" x 4' | 4' | \$0.50 | 25 | \$12.50 |
| HST38X12W | HEAT SHRINK TUBING WHITE 3/8" | 1' | \$0.17 | 50 | \$8.50 | HST14W4 | HEAT SHRINK TUBING WHITE 1/4" x 4' | 4' | \$0.50 | 25 | \$12.50 |
| HST38X12Y | HEAT SHRINK TUBING YELLOW 3/8" | 1' | \$0.17 | 50 | \$8.50 | HST14Y4 | HEAT SHRINK TUBING YELLOW 1/4" x 4' | 4' | \$0.50 | 25 | \$12.50 |
| HST12X12BK | HEAT SHRINK TUBING BLACK 1/2" | 1' | \$0.18 | 25 | \$4.50 | HST38BK4 | HEAT SHRINK TUBING BLACK 3/8" x 4' | 4' | \$0.62 | 25 | \$15.50 |
| HST12X12BL | HEAT SHRINK TUBING BLUE 1/2" | 1' | \$0.18 | 25 | \$4.50 | HST38BL4 | HEAT SHRINK TUBING BLUE 3/8" x 4' | 4' | \$0.62 | 25 | \$15.50 |
| HST12X12C | HEAT SHRINK TUBING CLEAR 1/2" | 1' | \$0.18 | 25 | \$4.50 | HST38C4 | HEAT SHRINK TUBING CLEAR 3/8" x 4' | 4' | \$0.62 | 25 | \$15.50 |
| HST12X12G | HEAT SHRINK TUBING GREEN 1/2" | 1' | \$0.18 | 25 | \$4.50 | HST38G4 | HEAT SHRINK TUBING GREEN 3/8" x 4' | 4' | \$0.62 | 25 | \$15.50 |
| HST12X12R | HEAT SHRINK TUB RED 1/2" | 1' | \$0.18 | 25 | \$4.50 | HST38R4 | HEAT SHRINK TUB RED 3/8" x 4' | 4' | \$0.62 | 25 | \$15.50 |
| HST12X12V | HEAT SHRINK TUBING VIOLET 1/2" | 1' | \$0.18 | 25 | \$4.50 | HST38V4 | HEAT SHRINK TUBING VIOLET 3/8" x 4' | 4' | \$0.62 | 25 | \$15.50 |

| PART # | DESCRIPTION | | ι | IOM | PRICE |
|----------|-------------------------------------|----|--------|-----|---------|
| HST38W4 | HEAT SHRINK TUBING WHITE 3/8" x 4' | 4' | \$0.62 | 25 | \$15.50 |
| HST38Y4 | HEAT SHRINK TUBING YELLOW 3/8" x 4' | 4' | \$0.62 | 25 | \$15.50 |
| HST12BK4 | HEAT SHRINK TUBING BLACK 1/2" x 4' | 4' | \$0.69 | 25 | \$17.25 |
| HST12BL4 | HEAT SHRINK TUBING BLUE 1/2" x 4' | 4' | \$0.69 | 25 | \$17.25 |
| HST12C4 | HEAT SHRINK TUBING CLEAR 1/2" x 4' | 4' | \$0.69 | 25 | \$17.25 |
| HST12G4 | HEAT SHRINK TUBING GREEN 1/2" x 4' | 4' | \$0.69 | 25 | \$17.25 |
| HST12R4 | HEAT SHRINK TUB RED 1/2" x 4' | 4' | \$0.69 | 25 | \$17.25 |
| HST12V4 | HEAT SHRINK TUBING VIOLET 1/2" x 4' | 4' | \$0.69 | 25 | \$17.25 |
| HST12W4 | HEAT SHRINK TUBING WHITE 1/2 x 4' | 4' | \$0.69 | 25 | \$17.25 |
| HST12Y4 | HEAT SHRINK TUBING YELLOW 1/2" x 4' | 4' | \$0.69 | 25 | \$17.25 |
| HST34BK4 | HEAT SHRINK TUBING BLACK 3/4" x 4' | 4' | \$1.28 | 25 | \$32.00 |
| HST34BL4 | HEAT SHRINK TUBING BLUE 3/4" x 4' | 4' | \$1.28 | 25 | \$32.00 |
| HST34C4 | HEAT SHRINK TUBING CLEAR 3/4" x 4' | 4' | \$1.28 | 25 | \$32.00 |
| HST34G4 | HEAT SHRINK TUBING GREEN 3/4" x 4' | 4' | \$1.28 | 25 | \$32.00 |
| HST34R4 | HEAT SHRINK TUB RED 3/4" x 4' | 4' | \$1.28 | 25 | \$32.00 |
| HST34V4 | HEAT SHRINK TUBING VIOLET 3/4" x 4' | 4' | \$1.28 | 25 | \$32.00 |
| HST34W4 | HEAT SHRINK TUBING WHITE 3/4" x 4' | 4' | \$1.28 | 25 | \$32.00 |
| HST34Y4 | HEAT SHRINK TUBING YELLOW 3/4" x 4' | 4' | \$1.28 | 25 | \$32.00 |
| HST01BK4 | HEAT SHRINK TUBING BLACK 1" x 4' | 4' | \$1.57 | 25 | \$39.25 |
| HST01BL4 | HEAT SHRINK TUBING BLUE 1" x 4' | 4' | \$1.57 | 25 | \$39.25 |
| HST01C4 | HEAT SHRINK TUBING CLEAR 1" x 4' | 4' | \$1.57 | 25 | \$39.25 |
| HST01G4 | HEAT SHRINK TUBING GREEN 1" x 4' | 4' | \$1.57 | 25 | \$39.25 |
| HST01R4 | HEAT SHRINK TUBING RED 1" x 4' | 4' | \$1.57 | 25 | \$39.25 |
| HST01V4 | HEAT SHRINK TUBING VIOLET 1" x 4' | 4' | \$1.57 | 25 | \$39.25 |
| HST01W4 | HEAT SHRINK TUBING WHITE 1" x 4' | 4' | \$1.57 | 25 | \$39.25 |
| HST01Y4 | HEAT SHRINK TUBING YELLOW 1" x 4' | 4' | \$1.57 | 25 | \$39.25 |



SINGLE WALL HEAT SHRINK- SPOOLS

• 2:1 shrink ratio • UL & CSA certified at 600V @ 125°C • Shrink temp. 90-120 °C • UL File E180908 (except clear). • Available in sizes up to 4" ID

| HST364BK | HEAT SHRINK TUBING BLACK 3/64" | C' | \$4.32 |
|-------------------|---------------------------------|---------|--------|
| HST364BL | HEAT SHRINK TUBING BLUE 3/64" | C' | \$4.32 |
| HST364C | HEAT SHRINK TUBING CLEAR 3/64" | C' | \$4.32 |
| HST364G | HEAT SHRINK TUBING GREEN 3/64" | C' | \$4.32 |
| HST364R | HEAT SHRINK TUBING RED 3/64" | C' | \$4.32 |
| HST364V | HEAT SHRINK TUBING VIOLET 3/64" | C' | \$4.32 |
| HST364W | HEAT SHRINK TUBING WHITE 3/64" | C' | \$4.32 |
| HST364Y | HEAT SHRINK TUBING YELLOW 3/64" | C' | \$4.32 |
| HST116BK | HEAT SHRINK TUBING BLACK 1/16" | C' | \$4.57 |
| HST116BL | HEAT SHRINK TUBING BLUE 1/16" | C' | \$4.57 |
| HST116C | HEAT SHRINK TUBING CLEAR 1/16" | C' | \$4.57 |
| HST116G | HEAT SHRINK TUBING GREEN 1/16" | C' | \$4.57 |
| HST116R | HEAT SHRINK TUBING RED 1/16" | C' | \$4.57 |
| HST116V | HEAT SHRINK TUBING VIOLET 1/16" | C' | \$4.57 |
| HST116W | HEAT SHRINK TUBING WHITE 1/16" | C' | \$4.57 |
| HST116Y | HEAT SHRINK TUBING YELLOW 1/16" | C' | \$4.57 |
| HST332BK | HEAT SHRINK TUBING BLACK 3/32" | C' | \$4.76 |
| HST332BL | HEAT SHRINK TUBING BLUE 3/32" | C' | \$4.76 |
| HST332C | HEAT SHRINK TUBING CLEAR 3/32" | C' | \$4.76 |
| HST332G | HEAT SHRINK TUBING GREEN 3/32" | C' | \$4.76 |
| HST332R | HEAT SHRINK TUBING RED 3/32" | C' | \$4.76 |
| HST332V | HEAT SHRINK TUBING VIOLET 3/32" | C' | \$4.76 |
| HST332W | HEAT SHRINK TUBING WHITE 3/32" | C' | \$4.76 |
| HST332Y | HEAT SHRINK TUBING YELLOW 3/32" | C' | \$4.76 |
| HST18BK | HEAT SHRINK TUBING BLACK 1/8" | C' | \$5.59 |
| HST18BL | HEAT SHRINK TUBING BLUE 1/8" | C' | \$5.59 |
| HST18C | HEAT SHRINK TUBING CLEAR 1/8" | C' | \$5.59 |
| HST18G | HEAT SHRINK TUBING GREEN 1/8" | C' | \$5.59 |
| HST18R | HEAT SHRINK TUBING RED 1/8" | C' | \$5.59 |
| HST18V | HEAT SHRINK TUBING VIOLET 1/8" | C' | \$5.59 |
| HST18W | HEAT SHRINK TUBING WHITE 1/8" | C' | \$5.59 |
| HST18Y | HEAT SHRINK TUBING YELLOW 1/8" | C' | \$5.59 |
| HST316BK | HEAT SHRINK TUBING BLACK 3/16" | C' | \$6.26 |
| HST316BL | HEAT SHRINK TUBING BLUE 3/16" | C' | \$6.26 |
| HST316C | HEAT SHRINK TUBING CLEAR 3/16" | C' | \$6.26 |
| HST316G | HEAT SHRINK TUBING GREEN 3/16" | C' | \$6.26 |
| HST316R | HEAT SHRINK TUBING RED 3/16" | C' | \$6.26 |
| HST316V | HEAT SHRINK TUBING VIOLET 3/16" | C' | \$6.26 |
| HST316W | HEAT SHRINK TUBING WHITE 3/16" | C' | \$6.26 |
| HST316Y | HEAT SHRINK TUBING YELLOW 3/16" | C' | \$6.26 |
| HST14BK | HEAT SHRINK TUBING BLACK 1/4" | C' | \$7.49 |
| HST14BL | HEAT SHRINK TUBING BLUE 1/4" | - C' | \$7.49 |
| HST14C | HEAT SHRINK TUBING CLEAR 1/4" | C' | \$7.49 |
| HST14G | HEAT SHRINK TUBING GREEN 1/4" | - C' | \$7.49 |
| HST14R | HEAT SHRINK TUBING RED 1/4" | C' | \$7.49 |
| HST14V | HEAT SHRINK TUBING VIOLET 1/4" | C' | \$7.49 |
| HST14W | HEAT SHRINK TUBING WHITE 1/4" | C' | \$7.49 |
| HST14Y | HEAT SHRINK TUBING YELLOW 1/4" | C' | \$7.49 |
| HST38BK | HEAT SHRINK TUBING BLACK 3/8" | C' | \$9.18 |
| | HEAT SHRINK TUBING BLUE 3/8" | C' | \$9.18 |
| HST38RI | | | |
| HST38BL HST38C | HEAT SHRINK TUBING CLEAR 3/8" | C' | \$9.18 |

| PART # | DESCRIPTION | UOM | PRICE |
|---------------|----------------------------------|-----|------------|
| HST38R | HEAT SHRINK TUBING RED 3/8" | C' | \$9.18 |
| HST38V | HEAT SHRINK TUBING VIOLET 3/8" | C' | \$9.18 |
| HST38W | HEAT SHRINK TUBING WHITE 3/8" | C' | \$9.18 |
| HST38Y | HEAT SHRINK TUBING YELLOW 3/8" | C' | \$9.18 |
| HST1-1/4BK100 | HEAT SHRINK TUBING BLACK 1 1/4" | C' | \$9.18 |
| HST1-1/4BL100 | HEAT SHRINK TUBING BLUE 1 1/4" | C' | \$9.18 |
| HST1-1/4C100 | HEAT SHRINK TUBING CLEAR 1 1/4" | C' | \$9.18 |
| HST1-1/4G100 | HEAT SHRINK TUBING GREEN 1 1/4" | C' | \$9.18 |
| HST1-1/4R100 | HEAT SHRINK TUBING RED 1 1/4" | C' | \$9.18 |
| HST1-1/4W100 | HEAT SHRINK TUBING WHITE 1 1/4" | C' | \$9.18 |
| HST1-1/4Y100 | HEAT SHRINK TUBING YELLOW 1 1/4" | C' | \$9.18 |
| HST12BK | HEAT SHRINK TUBING BLACK 1/2" | C' | \$12.39 |
| HST12BL | HEAT SHRINK TUBING BLUE 1/2" | C' | \$12.39 |
| HST12C | HEAT SHRINK TUBING CLEAR 1/2" | C' | \$12.39 |
| HST12G | HEAT SHRINK TUBING GREEN 1/2" | C' | \$12.39 |
| HST12R100 | HEAT SHRINK TUBING RED 1/2" | C' | \$12.39 |
| HST12V | HEAT SHRINK TUBING VIOLET 1/2" | C' | \$12.39 |
| HST12W | HEAT SHRINK TUBING WHITE 1/2" | C' | \$12.39 |
| HST12Y | HEAT SHRINK TUBING YELLOW 1/2" | C' | \$12.39 |
| HST34BK | HEAT SHRINK TUBING BLACK 3/4" | C' | \$23.12 |
| HST34BL | HEAT SHRINK TUBING BLUE 3/4" | C' | \$23.12 |
| HST34C | HEAT SHRINK TUBING CLEAR 3/4" | C' | \$23.12 |
| HST34G | HEAT SHRINK TUBING GREEN 3/4" | C' | \$23.12 |
| HST34R | HEAT SHRINK TUBING RED 3/4" | C' | \$23.12 |
| HST34V | HEAT SHRINK TUBING VIOLET 3/4" | C' | \$23.12 |
| HST34W | HEAT SHRINK TUBING WHITE 3/4" | C' | \$23.12 |
| HST34Y | HEAT SHRINK TUBING YELLOW 3/4" | C' | \$23.12 |
| HST01BK | HEAT SHRINK TUBING BLACK 1" | C' | \$33.35 |
| HST01BL | HEAT SHRINK TUBING BLUE 1" | C' | \$33.35 |
| HST01C | HEAT SHRINK TUBING CLEAR 1" | C' | \$33.35 |
| HST01G | HEAT SHRINK TUBING GREEN 1" | C' | \$33.35 |
| HST01R | HEAT SHRINK TUBING RED 1" | C' | \$33.35 |
| HST01V | HEAT SHRINK TUBING VIOLET 1" | C' | \$33.35 |
| HST01W | HEAT SHRINK TUBING WHITE 1" | C' | \$33.35 |
| HST01Y | HEAT SHRINK TUBING YELLOW 1" | C' | \$33.35 |
| HST1-1/2BK80 | HEAT SHRINK TUBING BLACK 1 1/2" | 80' | \$48,17 |
| HST1-1/2BL80 | HEAT SHRINK TUBING BLUE 1 1/2" | 80' | \$48,17 |
| HST1-1/2C80 | HEAT SHRINK TUBING CLEAR 1 1/2" | 80' | \$48,17 |
| HST1-1/2G80 | HEAT SHRINK TUBING GREEN 1 1/2" | 80' | \$48.17 |
| HST1-1/2R80 | HEAT SHRINK TUBING RED 1 1/2" | 80' | \$48.17 |
| HST1-1/2W80 | HEAT SHRINK TUBING WHITE 1 1/2" | 80' | \$48.17 |
| HST1-1/2Y80 | HEAT SHRINK TUBING YELLOW 1 1/2" | 80' | \$48.17 |
| HST2BK80 | HEAT SHRINK TUBING BLACK 2" | 80' | \$74.19 |
| HST2BL80 | HEAT SHRINK TUBING BLUE 2" | 80' | \$74.19 |
| HST2C80 | HEAT SHRINK TUBING CLEAR 2" | 80' | \$74.19 |
| HST2G80 | HEAT SHRINK TUBING GREEN 2" | 80' | \$74.19 |
| HST2R80 | HEAT SHRINK TUBING RED 2" | 80' | \$74.19 |
| HST2W80 | HEAT SHRINK TUBING WHITE 2" | 80' | \$74.19 |
| HST2Y80 | HEAT SHRINK TUBING YELLOW 2" | 80' | \$74.19 |
| HST3BK65 | HEAT SHRINK TUBING BLACK 3" | 65' | \$78.81 |
| HST3C65 | HEAT SHRINK TUBING CLEAR 3" | 65' | \$78.81 |
| HST3R65 | HEAT SHRINK TUBING RED 3" | 65' | \$78.81 |
| HST4BK65 | HEAT SHRINK TUBING BLACK 4" | 65' | \$128.56 |
| HST4C65 | HEAT SHRINK TUBING CLEAR 4" | 65' | \$128.56 |
| HST4R65 | HEAT SHRINK TUBING RED 4" | 65' | \$128.56 |
| | | 00 | , . 2010 0 |



YELLOW GREEN SINGLE WALL HEAT SHRINK- SPOOL

2:1 shrink ratio • UL & cUL certified at 600V @ 125°C
Shrink temp. 120-150 °C • UL File E180908.
Available in sizes up to 1" ID

| CBHFTYG3/16330 | HEAT SHRINK TUBING WHITE 3/16" | 330' | \$22.45 |
|----------------|--------------------------------|------|----------|
| CBHFTYG1/8660 | HEAT SHRINK TUBING WHITE 1/8" | 660' | \$37.80 |
| CBHFTYG1/4330 | HEAT SHRINK TUBING WHITE 1/4" | 330' | \$24.58 |
| CBHFTYG3/8330 | HEAT SHRINK TUBING WHITE 3/8" | 330' | \$27.58 |
| CBHFTYG1/2330 | HEAT SHRINK TUBING WHITE 1/2" | 330' | \$37.10 |
| CBHFTYG3/4330 | HEAT SHRINK TUBING WHITE 3/4" | 330' | \$109.65 |
| CBHFTYG1165 | HEAT SHRINK TUBING WHITE 1" | 165' | \$87.20 |



3X SINGLE WALL HEAT SHRINK- SPOOLED

3:1 shrink ratio • UL & CSA certified at 600V @ 125°C
Shrink temp. 90-120 °C • UL File E180908.
Available in sizes up to 1" ID

| CBHFT3X3/16BK330 | 3:1 HEAT SHRINK TUBING BLACK 3/16" | 330' | \$27.75 |
|------------------|------------------------------------|------|---------|
| CBHFT3X1/8BK660 | 3:1 HEAT SHRINK TUBING BLACK 1/8" | 660' | \$39.66 |
| CBHFT3X1/4BK330 | 3:1 HEAT SHRINK TUBING BLACK 1/4" | 330' | \$32.93 |
| CBHFT3X3/8BK330 | 3:1 HEAT SHRINK TUBING BLACK 3/8" | 330' | \$45.24 |

| | UOM | PRICE |
|---------------------------------|---------------------------------|--------------------------------------|
| 1 HEAT SHRINK TUBING BLACK 1/2" | 330' | \$58.23 |
| 1 HEAT SHRINK TUBING BLACK 3/4" | 330' | \$148.30 |
| 1 HEAT SHRINK TUBING BLACK 1" | C' | \$47.22 |
| | 1 HEAT SHRINK TUBING BLACK 3/4" | 1 HEAT SHRINK TUBING BLACK 3/4" 330' |

PART # DESCRIPTION

DUAL WALL ADHESIVE-LINED HEAT SHRINK TUBING

• 3:1 shrink ratio • UL & cUL certified at 600V @ 125°C • Shrink temp. 110 °C • UL File E180908 (except clear) • RoHS compliant • Black, Red, Clear

UOM

UOM \$

QTY

UOM

PRICE

QTY \$

1 FT CUT PIECES

PART #

Adhesive-lined • 1/8" to 3/8"- 50 pieces/bag; 1/2 " to 1"- 25 pieces/bag; 1 1/4" to 2" 1 piece/bag

| CBDWT3X1/8X12BK | DUAL WALL HEAT SHRINK BLACK 1/8" | 1' | \$0.31 | 50 | \$15.50 |
|-------------------|------------------------------------|----|--------|----|---------|
| CBDWT3X1/8X12C | DUAL WALL HEAT SHRINK CLEAR 1/8" | 1' | \$0.31 | 50 | \$15.50 |
| CBDWT3X1/8X12R | DUAL WALL HEAT SHRINK RED 1/8" | 1' | \$0.31 | 50 | \$15.50 |
| CBDWT3X3/16X12BK | DUAL WALL HEAT SHRINK BLACK 3/16" | 1' | \$0.38 | 50 | \$19.00 |
| CBDWT3X3/16X12C | DUAL WALL HEAT SHRINK CLEAR 3/16" | 1' | \$0.38 | 50 | \$19.00 |
| CBDWT3X3/16X12R | DUAL WALL HEAT SHRINK RED 3/16" | 1' | \$0.38 | 50 | \$19.00 |
| CBDWT3X1/4X12BK | DUAL WALL HEAT SHRINK BLACK 1/4" | 1' | \$0.41 | 50 | \$20.50 |
| CBDWT3X1/4X12C | DUAL WALL HEAT SHRINK CLEAR 1/4" | 1' | \$0.41 | 50 | \$20.50 |
| CBDWT3X1/4X12R | DUAL WALL HEAT SHRINK RED 1/4" | 1' | \$0.41 | 50 | \$20.50 |
| CBDWT3X3/8X12BK | DUAL WALL HEAT SHRINK BLACK 3/8" | 1' | \$0.59 | 50 | \$29.50 |
| CBDWT3X3/8X12C | DUAL WALL HEAT SHRINK CLEAR 3/8" | 1' | \$0.59 | 50 | \$29.50 |
| CBDWT3X3/8X12R | DUAL WALL HEAT SHRINK RED 3/8" | 1' | \$0.59 | 50 | \$29.50 |
| CBDWT3X1/2X12BK | DUAL WALL HEAT SHRINK BLACK 1/2" | 1' | \$0.61 | 25 | \$15.25 |
| CBDWT3X1/2X12C | DUAL WALL HEAT SHRINK CLEAR 1/2" | 1' | \$0.61 | 25 | \$15.25 |
| CBDWT3X1/2X12R | DUAL WALL HEAT SHRINK RED 1/2" | 1' | \$0.61 | 25 | \$15.25 |
| CBDWT3X3/4X12BK | DUAL WALL HEAT SHRINK BLACK 3/4" | 1' | \$0.90 | 25 | \$22.50 |
| CBDWT3X3/4X12C | DUAL WALL HEAT SHRINK CLEAR 3/4" | 1' | \$0.90 | 25 | \$22.50 |
| CBDWT3X3/4X12R | DUAL WALL HEAT SHRINK RED 3/4" | 1' | \$0.90 | 25 | \$22.50 |
| CBDWT3X1X12BK | DUAL WALL HEAT SHRINK BLACK 1" | 1' | \$1.13 | 25 | \$28.25 |
| CBDWT3X1X12C | DUAL WALL HEAT SHRINK CLEAR 1" | 1' | \$1.13 | 25 | \$28.25 |
| CBDWT3X1X12R | DUAL WALL HEAT SHRINK RED 1" | 1' | \$1.13 | 25 | \$28.25 |
| CBDWT3X1-1/4X12BK | DUAL WALL HEAT SHRINK BLACK 1 1/4" | 1' | \$1.58 | 1 | \$1.58 |
| CBDWT3X1-1/4X12C | DUAL WALL HEAT SHRINKCLEAR 1 1/4" | 1' | \$1.58 | 1 | \$1.58 |
| CBDWT3X1-1/4X12R | DUAL WALL HEAT SHRINK RED 1 1/4" | 1' | \$1.58 | 1 | \$1.58 |
| CBDWT3X1-1/2X12BK | DUAL WALL HEAT SHRINK BLACK 1 1/2" | 1' | \$2.20 | 1 | \$2.20 |
| CBDWT3X1-1/2X12C | DUAL WALL HEAT SHRINK CLEAR 1 1/2" | 1' | \$2.20 | 1 | \$2.20 |
| CBDWT3X1-1/2X12R | DUAL WALL HEAT SHRINK RED 1 1/2" | 1' | \$2.20 | 1 | \$2.20 |
| CBDWT3X2X12BK | DUAL WALL HEAT SHRINK BLACK 2" | 1' | \$2.34 | 1 | \$2.34 |
| CBDWT3X2X12C | DUAL WALL HEAT SHRINK CLEAR 2" | 1' | \$2.34 | 1 | \$2.34 |
| CBDWT3X2X12R | DUAL WALL HEAT SHRINK RED 2" | 1' | \$2.34 | 1 | \$2.34 |
| | | | | | |

4FT STICKS 3:1 shrink ratio - adhesive-lined • UL & cUL certified at 600V @ 125°C • Shrink temp. 110 °C • UL File E180908 (except clear) • RoHS compliant. Available in sizes up to 2" ID

DESCRIPTION

| CBDWT3X1/8C4 DUAL WALL HEAT SHRINK CLEAR 1/8" 4" \$1.15 CBDWT3X1/8R4 DUAL WALL HEAT SHRINK RED 1/8" 4" \$1.15 CBDWT3X1/8R4 DUAL WALL HEAT SHRINK RED 1/8" 4" \$1.33 CBDWT3X316BK4 DUAL WALL HEAT SHRINK BLACK 3/16" 4" \$1.33 CBDWT3X316C4 DUAL WALL HEAT SHRINK CLEAR 3/16" 4" \$1.33 CBDWT3X1/4BK4 DUAL WALL HEAT SHRINK REDK 3/16" 4" \$1.36 CBDWT3X1/4BK4 DUAL WALL HEAT SHRINK REDK 3/16" 4" \$1.55 CBDWT3X1/4R4 DUAL WALL HEAT SHRINK REDK 3/16" 4" \$1.55 CBDWT3X1/4R4 DUAL WALL HEAT SHRINK REDK 3/8" 4" \$2.20 CBDWT3X38BK4 DUAL WALL HEAT SHRINK CLEAR 1/4" 4" \$2.20 CBDWT3X38R4 DUAL WALL HEAT SHRINK CLEAR 3/8" 4" \$2.22 CBDWT3X1/2C4 DUAL WALL HEAT SHRINK BLACK 1/2" 4' \$2.33 CBDWT3X1/2R4 DUAL WALL HEAT SHRINK BLACK 3/4" 4' \$3.30 CBDWT3X12R4 DUAL WALL HEAT SHRINK BLACK 3/4" 4' \$3.30 CBDWT3X12R4 DUAL WAL | | | | |
|--|-----------------|------------------------------------|----|---------|
| CBDWT3X1/8R4 DUAL WALL HEAT SHRINK RED 1/8" 4" \$1.33 CBDWT3X1/6R4 DUAL WALL HEAT SHRINK BLACK 3/16" 4" \$1.33 CBDWT3X316C4 DUAL WALL HEAT SHRINK BLACK 3/16" 4" \$1.33 CBDWT3X316C4 DUAL WALL HEAT SHRINK BLACK 3/16" 4" \$1.33 CBDWT3X1/4C4 DUAL WALL HEAT SHRINK BLACK 1/4" 4" \$1.55 CBDWT3X1/4C4 DUAL WALL HEAT SHRINK BLACK 1/4" 4" \$1.55 CBDWT3X1/4R4 DUAL WALL HEAT SHRINK BLACK 1/4" 4" \$1.56 CBDWT3X1/4R4 DUAL WALL HEAT SHRINK BLACK 1/4" 4" \$1.56 CBDWT3X1/4R4 DUAL WALL HEAT SHRINK BLACK 3/8" 4" \$2.20 CBDWT3X328K4 DUAL WALL HEAT SHRINK BLACK 1/2" 4" \$2.20 CBDWT3X1/2BK4 DUAL WALL HEAT SHRINK BLACK 1/2" 4" \$2.32 CBDWT3X1/2R4 DUAL WALL HEAT SHRINK RED 1/2" 4" \$2.32 CBDWT3X1/2R4 DUAL WALL HEAT SHRINK RED 1/2" 4" \$2.33 CBDWT3X1/2R4 DUAL WALL HEAT SHRINK RED 1/2" 4" \$2.34 CBDWT3X12R4 DUAL WALL | CBDWT3X1/8BK4 | DUAL WALL HEAT SHRINK BLACK 1/8" | 4' | \$1.15 |
| CBDWT3X316BK4 DUAL WALL HEAT SHRINK BLACK 3/16" 4' \$1.33 CBDWT3X316C4 DUAL WALL HEAT SHRINK CLEAR 3/16" 4' \$1.33 CBDWT3X316C4 DUAL WALL HEAT SHRINK CLEAR 3/16" 4' \$1.33 CBDWT3X316R4 DUAL WALL HEAT SHRINK CLEAR 3/16" 4' \$1.33 CBDWT3X1/42A DUAL WALL HEAT SHRINK BLACK 1/4" 4' \$1.55 CBDWT3X1/42A DUAL WALL HEAT SHRINK BLACK 1/4" 4' \$1.55 CBDWT3X1/47A DUAL WALL HEAT SHRINK RED 1/4" 4' \$1.55 CBDWT3X1/47A DUAL WALL HEAT SHRINK BLACK 3/8" 4' \$2.20 CBDWT3X386A DUAL WALL HEAT SHRINK RED 1/4" 4' \$2.20 CBDWT3X3728K DUAL WALL HEAT SHRINK CLEAR 3/8" 4' \$2.23 CBDWT3X1/2K4 DUAL WALL HEAT SHRINK RED 1/2" 4' \$2.34 CBDWT3X1/2R4 DUAL WALL HEAT SHRINK RED 1/2" 4' \$2.34 CBDWT3X12R4 DUAL WALL HEAT SHRINK CLEAR 1/2" 4' \$3.36 CBDWT3X34R4 DUAL WALL HEAT SHRINK CLEAR 1/2" 4' \$3.36 CBDWT3X1472R4 DUAL WALL | CBDWT3X1/8C4 | DUAL WALL HEAT SHRINK CLEAR 1/8" | 4' | \$1.15 |
| CBDWT3X316C4 DUAL WALL HEAT SHRINK CLEAR 3/16" 4' \$1.33 CBDWT3X316R4 DUAL WALL HEAT SHRINK EDK 3/16" 4' \$1.33 CBDWT3X1/4BK4 DUAL WALL HEAT SHRINK BLACK 1/4" 4' \$1.53 CBDWT3X1/4BK4 DUAL WALL HEAT SHRINK CLEAR 1/4" 4' \$1.55 CBDWT3X1/4P DUAL WALL HEAT SHRINK CLEAR 1/4" 4' \$1.55 CBDWT3X1/4P DUAL WALL HEAT SHRINK CLEAR 1/4" 4' \$2.20 CBDWT3X386K4 DUAL WALL HEAT SHRINK BLACK 3/8" 4' \$2.20 CBDWT3X382C4 DUAL WALL HEAT SHRINK BLACK 1/2" 4' \$2.22 CBDWT3X172BK4 DUAL WALL HEAT SHRINK BLACK 1/2" 4' \$2.32 CBDWT3X172A DUAL WALL HEAT SHRINK BLACK 1/2" 4' \$2.34 CBDWT3X172A DUAL WALL HEAT SHRINK BLACK 1/2" 4' \$2.34 CBDWT3X172A DUAL WALL HEAT SHRINK BLACK 1/2" 4' \$2.34 CBDWT3X172A DUAL WALL HEAT SHRINK BLACK 1/2" 4' \$3.36 CBDWT3X172A DUAL WALL HEAT SHRINK BLACK 1/2" 4' \$3.36 CBDWT3X18K4 DUAL WALL | CBDWT3X1/8R4 | DUAL WALL HEAT SHRINK RED 1/8" | 4' | \$1.15 |
| CBDWT3X316R4 DUAL WALL HEAT SHRINKREDK 3/16" 4' \$1.33 CBDWT3X11/4BK4 DUAL WALL HEAT SHRINK BLACK 1/4" 4' \$1.53 CBDWT3X11/4EA DUAL WALL HEAT SHRINK BLACK 1/4" 4' \$1.55 CBDWT3X1/4C4 DUAL WALL HEAT SHRINK CLEAR 1/4" 4' \$1.55 CBDWT3X1/4R4 DUAL WALL HEAT SHRINK CLEAR 1/4" 4' \$2.20 CBDWT3X38BK4 DUAL WALL HEAT SHRINK BLACK 3/8" 4' \$2.20 CBDWT3X38C4 DUAL WALL HEAT SHRINK BLACK 3/8" 4' \$2.20 CBDWT3X38C4 DUAL WALL HEAT SHRINK BLACK 3/8" 4' \$2.20 CBDWT3X1/2BK4 DUAL WALL HEAT SHRINK BLACK 1/2" 4' \$2.32 CBDWT3X1/2C4 DUAL WALL HEAT SHRINK CLEAR 1/2" 4' \$2.34 CBDWT3X1/2R4 DUAL WALL HEAT SHRINK RE 1/2" 4' \$3.36 CBDWT3X3464 DUAL WALL HEAT SHRINK BLACK 3/4" 4' \$3.36 CBDWT3X164 DUAL WALL HEAT SHRINK BLACK 1" 4' \$4.22 CBDWT3X164 DUAL WALL HEAT SHRINK BLACK 1" 4' \$4.22 CBDWT3X164 DUAL WALL HEAT SHR | CBDWT3X316BK4 | DUAL WALL HEAT SHRINK BLACK 3/16" | 4' | \$1.38 |
| CBDWT3X1/4BK4 DUAL WALL HEAT SHRINK BLACK 1/4" 4' \$1.55 CBDWT3X1/4R4 DUAL WALL HEAT SHRINK RED 1/4" 4' \$1.55 CBDWT3X1/4R4 DUAL WALL HEAT SHRINK RED 1/4" 4' \$1.56 CBDWT3X1/4R4 DUAL WALL HEAT SHRINK RED 1/4" 4' \$1.55 CBDWT3X388K4 DUAL WALL HEAT SHRINK RED 1/4" 4' \$2.20 CBDWT3X38C4 DUAL WALL HEAT SHRINK CLEAR 3/8" 4' \$2.20 CBDWT3X38R4 DUAL WALL HEAT SHRINK CLEAR 3/8" 4' \$2.20 CBDWT3X1/2BK4 DUAL WALL HEAT SHRINK CLEAR 3/8" 4' \$2.22 CBDWT3X1/2C4 DUAL WALL HEAT SHRINK BLACK 1/2" 4' \$2.32 CBDWT3X1/2R4 DUAL WALL HEAT SHRINK CLEAR 3/4" 4' \$3.30 CBDWT3X34C4 DUAL WALL HEAT SHRINK BLACK 3/4" 4' \$3.30 CBDWT3X34R4 DUAL WALL HEAT SHRINK BLACK 1/4" 4' \$4.22 CBDWT3X34R4 DUAL WALL HEAT SHRINK BLACK 1/4" 4' \$3.30 CBDWT3X34R4 DUAL WALL HEAT SHRINK BLACK 1/4" 4' \$4.22 CBDWT3X14 DUAL WALL HEAT SHRIN | CBDWT3X316C4 | DUAL WALL HEAT SHRINK CLEAR 3/16" | 4' | \$1.38 |
| CBDWT3X1/4C4 DUAL WALL HEAT SHRINK CLEAR 1/4" 4' \$155 CBDWT3X1/4R4 DUAL WALL HEAT SHRINK RED 1/4" 4' \$155 CBDWT3X1/4R4 DUAL WALL HEAT SHRINK RED 1/4" 4' \$155 CBDWT3X38BK4 DUAL WALL HEAT SHRINK BLACK 3/8" 4' \$22.20 CBDWT3X38R4 DUAL WALL HEAT SHRINK CLEAR 3/8" 4' \$22.20 CBDWT3X372BK4 DUAL WALL HEAT SHRINK CLEAR 3/8" 4' \$22.32 CBDWT3X1/2BK4 DUAL WALL HEAT SHRINK BLACK 1/2" 4' \$22.32 CBDWT3X1/2R4 DUAL WALL HEAT SHRINK REDK 3/8" 4' \$23.32 CBDWT3X1/2R4 DUAL WALL HEAT SHRINK REDK 1/2" 4' \$23.32 CBDWT3X12R4 DUAL WALL HEAT SHRINK REDK 3/4" 4' \$3.33 CBDWT3X34R4 DUAL WALL HEAT SHRINK CLEAR 3/4" 4' \$3.36 CBDWT3X34R4 DUAL WALL HEAT SHRINK BLACK 1" 4' \$4.22 CBDWT3X174 DUAL WALL HEAT SHRINK CLEAR 1'' 4' \$4.22 CBDWT3X174 DUAL WALL HEAT SHRINK CLEAR 1'' 4' \$4.22 CBDWT3X174 DUAL WALL HEAT SHRINK | CBDWT3X316R4 | DUAL WALL HEAT SHRINKREDK 3/16" | 4' | \$1.38 |
| CBDWT3X1/4R4 DUAL WALL HEAT SHRINK RED 1/4" 4' \$1.55 CBDWT3X1/4R4 DUAL WALL HEAT SHRINK RED 1/4" 4' \$2.20 CBDWT3X38C4 DUAL WALL HEAT SHRINK BLACK 3/8" 4' \$2.20 CBDWT3X38C4 DUAL WALL HEAT SHRINK CLEAR 3/8" 4' \$2.20 CBDWT3X38R4 DUAL WALL HEAT SHRINK CLEAR 3/8" 4' \$2.20 CBDWT3X172K4 DUAL WALL HEAT SHRINK REDK 3/8" 4' \$2.23 CBDWT3X172K4 DUAL WALL HEAT SHRINK CLEAR 1/2" 4' \$2.34 CBDWT3X172K4 DUAL WALL HEAT SHRINK RED 1/2" 4' \$2.34 CBDWT3X172R4 DUAL WALL HEAT SHRINK RED 1/2" 4' \$3.36 CBDWT3X348K4 DUAL WALL HEAT SHRINK CLEAR 3/4" 4' \$3.36 CBDWT3X34R4 DUAL WALL HEAT SHRINK CLEAR 3/4" 4' \$3.36 CBDWT3X174 DUAL WALL HEAT SHRINK BLACK 1" 4' \$4.22 CBDWT3X164 DUAL WALL HEAT SHRINK BLACK 1" 4' \$4.22 CBDWT3X174 DUAL WALL HEAT SHRINK BLACK 1 1/4" 4' \$4.29 CBDWT3X114BK4 DUAL WALL HEAT SHRINK BLA | CBDWT3X1/4BK4 | DUAL WALL HEAT SHRINK BLACK 1/4" | 4' | \$1.58 |
| CBDWT3X38BK4 DUAL WALL HEAT SHRINK BLACK 3/8" 4' \$2.20 CBDWT3X38BK4 DUAL WALL HEAT SHRINK CLEAR 3/8" 4' \$2.20 CBDWT3X38R4 DUAL WALL HEAT SHRINK CLEAR 3/8" 4' \$2.20 CBDWT3X38R4 DUAL WALL HEAT SHRINK CLEAR 3/8" 4' \$2.20 CBDWT3X1/2BK4 DUAL WALL HEAT SHRINK BLACK 1/2" 4' \$2.32 CBDWT3X1/2A DUAL WALL HEAT SHRINK BLACK 1/2" 4' \$2.32 CBDWT3X1/2A DUAL WALL HEAT SHRINK BLACK 1/2" 4' \$2.32 CBDWT3X1/2A DUAL WALL HEAT SHRINK RED 1/2" 4' \$2.32 CBDWT3X12R4 DUAL WALL HEAT SHRINK RED 1/2" 4' \$3.33 CBDWT3X34R4 DUAL WALL HEAT SHRINK RED X/4" 4' \$3.36 CBDWT3X1BK4 DUAL WALL HEAT SHRINK CLEAR 1/4" 4' \$4.22 CBDWT3X1R4 DUAL WALL HEAT SHRINK BLACK 1" 4' \$4.22 CBDWT3X1-1/48K4 DUAL WALL HEAT SHRINK BLACK 1 1/4" 4' \$4.99 CBDWT3X1-1/42K4 DUAL WALL HEAT SHRINK REAN 1 1/4" 4' \$4.99 CBDWT3X1-1/42K4 DUAL WALL | CBDWT3X1/4C4 | DUAL WALL HEAT SHRINK CLEAR 1/4" | 4' | \$1.58 |
| CBDWT3X38C4 DUAL WALL HEAT SHRINK CLEAR 3/8" 4' 52.2 CBDWT3X38R4 DUAL WALL HEAT SHRINK CLEAR 3/8" 4' 52.2 CBDWT3X1/2BK4 DUAL WALL HEAT SHRINK BLACK 1/2" 4' 52.3 CBDWT3X1/2BK4 DUAL WALL HEAT SHRINK BLACK 1/2" 4' 52.3 CBDWT3X1/2R4 DUAL WALL HEAT SHRINK RED 1/2" 4' 52.3 CBDWT3X1/2R4 DUAL WALL HEAT SHRINK RED 1/2" 4' 52.3 CBDWT3X348K4 DUAL WALL HEAT SHRINK RED 1/2" 4' 53.36 CBDWT3X348K4 DUAL WALL HEAT SHRINK RED X/4" 4' 53.36 CBDWT3X348K4 DUAL WALL HEAT SHRINK BLACK 3/4" 4' 53.36 CBDWT3X18K4 DUAL WALL HEAT SHRINK BLACK 1" 4' 54.25 CBDWT3X1R4 DUAL WALL HEAT SHRINK BLACK 1 1/4" 4' 54.25 CBDWT3X1-1/4BK4 DUAL WALL HEAT SHRINK REDK 1 1/4" 4' 54.29 CBDWT3X1-1/4BK4 DUAL WALL HEAT SHRINK RED 1 1/4" 4' 54.99 CBDWT3X1-1/4BK4 DUAL WALL HEAT SHRINK RED 1 1/4" 4' 54.99 CBDWT3X1-1/4FK4 DUAL WALL | CBDWT3X1/4R4 | DUAL WALL HEAT SHRINK RED 1/4" | 4' | \$1.58 |
| CBDWT3X38R4 DUAL WALL HEAT SHRINKREDK 3/8" 4' 52.2 CBDWT3X1/2BK4 DUAL WALL HEAT SHRINK BLACK 1/2" 4' \$2.3 CBDWT3X1/2C4 DUAL WALL HEAT SHRINK BLACK 1/2" 4' \$2.3 CBDWT3X1/2C4 DUAL WALL HEAT SHRINK CLEAR 1/2" 4' \$2.3 CBDWT3X1/2R4 DUAL WALL HEAT SHRINK CLEAR 1/2" 4' \$2.3 CBDWT3X1/2R4 DUAL WALL HEAT SHRINK BLACK 3/4" 4' \$3.30 CBDWT3X34BK4 DUAL WALL HEAT SHRINK BLACK 3/4" 4' \$3.30 CBDWT3X34C4 DUAL WALL HEAT SHRINK CLEAR 3/4" 4' \$3.30 CBDWT3X174 DUAL WALL HEAT SHRINK CLEAR 1/4" 4' \$4.22 CBDWT3X18K4 DUAL WALL HEAT SHRINK CLEAR 1/4" 4' \$4.22 CBDWT3X164 DUAL WALL HEAT SHRINK CLEAR 1' 4' \$4.22 CBDWT3X11/4BK4 DUAL WALL HEAT SHRINK BLACK 1 1/4" 4' \$4.29 CBDWT3X1-1/4BK4 DUAL WALL HEAT SHRINK CLEAR 1 1/4" 4' \$4.99 CBDWT3X1-1/4BK4 DUAL WALL HEAT SHRINK RED 1 1/4" 4' \$4.99 CBDWT3X1-1/4BK4 DUAL | CBDWT3X38BK4 | DUAL WALL HEAT SHRINK BLACK 3/8" | 4' | \$2.20 |
| CBDWT3X1/2BK4 DUAL WALL HEAT SHRINK BLACK 1/2" 4' \$2.3 CBDWT3X1/2C4 DUAL WALL HEAT SHRINK CLEAR 1/2" 4' \$2.3 CBDWT3X1/2R4 DUAL WALL HEAT SHRINK CLEAR 1/2" 4' \$2.3 CBDWT3X1/2R4 DUAL WALL HEAT SHRINK RED 1/2" 4' \$2.3 CBDWT3X1/2R4 DUAL WALL HEAT SHRINK RED 1/2" 4' \$3.3 CBDWT3X34R4 DUAL WALL HEAT SHRINK CLEAR 3/4" 4' \$3.3 CBDWT3X34C4 DUAL WALL HEAT SHRINK CLEAR 3/4" 4' \$3.3 CBDWT3X174 DUAL WALL HEAT SHRINK CLEAR 1/4' 4' \$4.25 CBDWT3X174 DUAL WALL HEAT SHRINK BLACK 1" 4' \$4.25 CBDWT3X164 DUAL WALL HEAT SHRINK CLEAR 1' 4' \$4.25 CBDWT3X174 DUAL WALL HEAT SHRINK BLACK 1'' 4' \$4.25 CBDWT3X11-1/45K4 DUAL WALL HEAT SHRINK BLACK 1'' 4' \$4.25 CBDWT3X1-1/46K4 DUAL WALL HEAT SHRINK BLACK 1 1/4" 4' \$4.95 CBDWT3X1-1/4744 DUAL WALL HEAT SHRINK BLACK 1 1/4" 4' \$4.95 CBDWT3X1-1/264 DUAL WALL HEAT | CBDWT3X38C4 | DUAL WALL HEAT SHRINK CLEAR 3/8" | 4' | \$2.20 |
| CBDWT3X1/2C4 DUAL WALL HEAT SHRINK CLEAR 1/2" 4' \$2.3 CBDWT3X1/2R4 DUAL WALL HEAT SHRINK RED 1/2" 4' \$2.3 CBDWT3X1/2R4 DUAL WALL HEAT SHRINK RED 1/2" 4' \$3.3 CBDWT3X348K4 DUAL WALL HEAT SHRINK BLACK 3/4" 4' \$3.3 CBDWT3X34R4 DUAL WALL HEAT SHRINK CLEAR 3/4" 4' \$3.3 CBDWT3X34R4 DUAL WALL HEAT SHRINK CLEAR 3/4" 4' \$3.3 CBDWT3X18A DUAL WALL HEAT SHRINK BLACK 1" 4' \$4.25 CBDWT3X1R4 DUAL WALL HEAT SHRINK CLEAR 1" 4' \$4.25 CBDWT3X1-14BK4 DUAL WALL HEAT SHRINK CLEAR 1" 4' \$4.95 CBDWT3X1-1/42K4 DUAL WALL HEAT SHRINK BLACK 1 1/4" 4' \$4.95 CBDWT3X1-1/42K4 DUAL WALL HEAT SHRINK REAR 1 1/4" 4' \$4.95 CBDWT3X1-1/42K4 DUAL WALL HEAT SHRINK RED 1 1/4" 4' \$4.95 CBDWT3X1-1/26K4 DUAL WALL HEAT SHRINK RED 1 1/4" 4' \$4.95 CBDWT3X1-1/27K4 DUAL WALL HEAT SHRINK RED 1 1/4" 4' \$7.05 CBDWT3X1-1/27K4 DUAL | CBDWT3X38R4 | DUAL WALL HEAT SHRINKREDK 3/8" | 4' | \$2.20 |
| CBDWT3X1/2R4 DUAL WALL HEAT SHRINK RED 1/2" 4' \$2.3 CBDWT3X14/2R4 DUAL WALL HEAT SHRINK RED 1/2" 4' \$3.36 CBDWT3X34BK4 DUAL WALL HEAT SHRINK BLACK 3/4" 4' \$3.36 CBDWT3X34C4 DUAL WALL HEAT SHRINK CLEAR 3/4" 4' \$3.36 CBDWT3X34R4 DUAL WALL HEAT SHRINK CLEAR 3/4" 4' \$3.36 CBDWT3X184 DUAL WALL HEAT SHRINK BLACK 1" 4' \$4.29 CBDWT3X1R4 DUAL WALL HEAT SHRINK CLEAR 1" 4' \$4.29 CBDWT3X1R4 DUAL WALL HEAT SHRINK CLEAR 1" 4' \$4.99 CBDWT3X1-1/4BK4 DUAL WALL HEAT SHRINK BLACK 1 1/4" 4' \$4.99 CBDWT3X1-1/4F4 DUAL WALL HEAT SHRINK CLEAR 1 1/4" 4' \$4.99 CBDWT3X1-1/2BK4 DUAL WALL HEAT SHRINK RED 1 1/4" 4' \$4.99 CBDWT3X1-1/2R4 DUAL WALL HEAT SHRINK CLEAR 1 1/2" 4' \$7.09 CBDWT3X1-1/2R4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' \$7.09 CBDWT3X1-1/2R4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' \$7.09 CBDWT3X2BK4 DUAL | CBDWT3X1/2BK4 | DUAL WALL HEAT SHRINK BLACK 1/2" | 4' | \$2.34 |
| CBDWT3X34BK4 DUAL WALL HEAT SHRINK BLACK 3/4" 4' 53.33 CBDWT3X34BK4 DUAL WALL HEAT SHRINK BLACK 3/4" 4' \$3.33 CBDWT3X34R4 DUAL WALL HEAT SHRINK CLEAR 3/4" 4' \$3.33 CBDWT3X34R4 DUAL WALL HEAT SHRINK BLACK 1" 4' \$4.25 CBDWT3X1BK4 DUAL WALL HEAT SHRINK BLACK 1" 4' \$4.25 CBDWT3X1C4 DUAL WALL HEAT SHRINK CLEAR 1" 4' \$4.25 CBDWT3X1R4 DUAL WALL HEAT SHRINK CLEAR 1" 4' \$4.25 CBDWT3X1-1/4BK4 DUAL WALL HEAT SHRINK BLACK 1 1/4" 4' \$4.95 CBDWT3X1-1/4BK4 DUAL WALL HEAT SHRINK CLEAR 1 1/4" 4' \$4.95 CBDWT3X1-1/4BK4 DUAL WALL HEAT SHRINK RED 1 1/4" 4' \$4.95 CBDWT3X1-1/2BK4 DUAL WALL HEAT SHRINK RED 1 1/4" 4' \$7.05 CBDWT3X1-1/2C4 DUAL WALL HEAT SHRINK CLEAR 1 1/2" 4' \$7.05 CBDWT3X1-1/2R4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' \$7.05 CBDWT3X2BK4 DUAL WALL HEAT SHRINK BLACK 2" 4' \$7.05 CBDWT3X2BK4 DU | CBDWT3X1/2C4 | DUAL WALL HEAT SHRINK CLEAR 1/2" | 4' | \$2.34 |
| CBDWT3X34C4 DUAL WALL HEAT SHRINK CLEAR 3/4" 4' \$3.30 CBDWT3X34C4 DUAL WALL HEAT SHRINK CLEAR 3/4" 4' \$3.30 CBDWT3X34R4 DUAL WALL HEAT SHRINK BLACK 1" 4' \$4.20 CBDWT3X1BK4 DUAL WALL HEAT SHRINK BLACK 1" 4' \$4.20 CBDWT3X1C4 DUAL WALL HEAT SHRINK BLACK 1" 4' \$4.20 CBDWT3X1R4 DUAL WALL HEAT SHRINK CLEAR 1" 4' \$4.20 CBDWT3X1R4 DUAL WALL HEAT SHRINK REDK 1" 4' \$4.20 CBDWT3X1-1/4BK4 DUAL WALL HEAT SHRINK REDK 1" 4' \$4.90 CBDWT3X1-1/4BK4 DUAL WALL HEAT SHRINK CLEAR 1 1/4" 4' \$4.90 CBDWT3X1-1/4BK4 DUAL WALL HEAT SHRINK RED 1 1/4" 4' \$4.90 CBDWT3X1-1/2BK4 DUAL WALL HEAT SHRINK RED 1 1/4" 4' \$7.00 CBDWT3X1-1/2C4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' \$7.00 CBDWT3X1-1/2R4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' \$7.00 CBDWT3X2BK4 DUAL WALL HEAT SHRINK BLACK 2" 4' \$7.00 CBDWT3X2BK4 DUAL WALL HEAT | CBDWT3X1/2R4 | DUAL WALL HEAT SHRINK RED 1/2" | 4' | \$2.34 |
| CBDWT3X34R4 DUAL WALL HEAT SHRINKREDK 3/4" 4' S3.33 CBDWT3X1BK4 DUAL WALL HEAT SHRINK BLACK 1" 4' S4.25 CBDWT3X1C4 DUAL WALL HEAT SHRINK CLEAR 1" 4' S4.25 CBDWT3X1C4 DUAL WALL HEAT SHRINK CLEAR 1" 4' S4.25 CBDWT3X1C4 DUAL WALL HEAT SHRINK CLEAR 1" 4' S4.25 CBDWT3X1-1/4BK4 DUAL WALL HEAT SHRINK BLACK 1 1/4" 4' S4.95 CBDWT3X1-1/4C4 DUAL WALL HEAT SHRINK CLEAR 1 1/4" 4' S4.95 CBDWT3X1-1/4C4 DUAL WALL HEAT SHRINK RED 1 1/4" 4' S4.95 CBDWT3X1-1/2EK4 DUAL WALL HEAT SHRINK RED 1 1/4" 4' S4.95 CBDWT3X1-1/2EK4 DUAL WALL HEAT SHRINK RED 1 1/4" 4' S7.05 CBDWT3X1-1/2R4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' S7.05 CBDWT3X1-1/2R4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' S7.05 CBDWT3X2EK4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' S7.05 CBDWT3X2EK4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' S7.05 CBDWT3X2EK4 DUAL | CBDWT3X34BK4 | DUAL WALL HEAT SHRINK BLACK 3/4" | 4' | \$3.36 |
| CBDWT3X1BK4 DUAL WALL HEAT SHRINK BLACK 1" 4' \$4.25 CBDWT3X1C4 DUAL WALL HEAT SHRINK CLEAR 1" 4' \$4.25 CBDWT3X1C4 DUAL WALL HEAT SHRINK CLEAR 1" 4' \$4.25 CBDWT3X1R4 DUAL WALL HEAT SHRINK CLEAR 1" 4' \$4.25 CBDWT3X1-1/4BK4 DUAL WALL HEAT SHRINK BLACK 1 1/4" 4' \$4.95 CBDWT3X1-1/4C4 DUAL WALL HEAT SHRINK CLEAR 1 1/4" 4' \$4.95 CBDWT3X1-1/4C4 DUAL WALL HEAT SHRINK RED 1 1/4" 4' \$4.95 CBDWT3X1-1/4C4 DUAL WALL HEAT SHRINK RED 1 1/4" 4' \$4.95 CBDWT3X1-1/2K4 DUAL WALL HEAT SHRINK RED 1 1/4" 4' \$7.05 CBDWT3X1-1/2R4 DUAL WALL HEAT SHRINK CLEAR 1 1/2" 4' \$7.05 CBDWT3X1-1/2R4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' \$7.05 CBDWT3X1-1/2R4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' \$7.05 CBDWT3X2K4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' \$7.05 CBDWT3X2K4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' \$7.05 CBDWT3X2K4 DUA | CBDWT3X34C4 | DUAL WALL HEAT SHRINK CLEAR 3/4" | 4' | \$3.36 |
| CBDWT3X1C4 DUAL WALL HEAT SHRINK CLEAR 1" 4' 54.22 CBDWT3X1R4 DUAL WALL HEAT SHRINK CLEAR 1" 4' 54.22 CBDWT3X1R4 DUAL WALL HEAT SHRINK BLACK 1 1/4" 4' 54.92 CBDWT3X1-1/4BK4 DUAL WALL HEAT SHRINK BLACK 1 1/4" 4' 54.92 CBDWT3X1-1/4C4 DUAL WALL HEAT SHRINK CLEAR 1 1/4" 4' 54.92 CBDWT3X1-1/4F4 DUAL WALL HEAT SHRINK CLEAR 1 1/4" 4' 57.02 CBDWT3X1-1/2BK4 DUAL WALL HEAT SHRINK BLACK 1 1/2" 4' 57.02 CBDWT3X1-1/2C4 DUAL WALL HEAT SHRINK CLEAR 1 1/2" 4' 57.02 CBDWT3X1-1/2R4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' 57.02 CBDWT3X2BK4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' 57.02 CBDWT3X2BK4 DUAL WALL HEAT SHRINK BLACK 2" 4' 57.02 CBDWT3X2BK4 DUAL WALL HEAT SHRINK BLACK 2" 4' 57.02 CBDWT3X22G4 DUAL WALL HEAT SHRINK CLEAR 2" 4' 57.02 | CBDWT3X34R4 | DUAL WALL HEAT SHRINKREDK 3/4" | 4' | \$3.36 |
| CBDWT3X1R4 DUAL WALL HEAT SHRINKREDK 1" 4' 54.22 CBDWT3X1-1/4BK4 DUAL WALL HEAT SHRINK BLACK 1 1/4" 4' 54.99 CBDWT3X1-1/4C4 DUAL WALL HEAT SHRINK BLACK 1 1/4" 4' 54.99 CBDWT3X1-1/4C4 DUAL WALL HEAT SHRINK CLEAR 1 1/4" 4' 54.99 CBDWT3X1-1/4C4 DUAL WALL HEAT SHRINK RED 1 1/4" 4' 54.99 CBDWT3X1-1/2R4 DUAL WALL HEAT SHRINK RED 1 1/4" 4' 57.09 CBDWT3X1-1/2C4 DUAL WALL HEAT SHRINK CLEAR 1 1/2" 4' 57.09 CBDWT3X1-1/2R4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' 57.09 CBDWT3X2BK4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' 57.09 CBDWT3X2BK4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' 57.09 CBDWT3X2BK4 DUAL WALL HEAT SHRINK BLACK 2" 4' 57.09 CBDWT3X22G4 DUAL WALL HEAT SHRINK CLEAR 2" 4' \$13.20 | CBDWT3X1BK4 | DUAL WALL HEAT SHRINK BLACK 1" | 4' | \$4.29 |
| CBDWT3X1-1/4BK4 DUAL WALL HEAT SHRINK BLACK 1 1/4" 4' \$4.99 CBDWT3X1-1/4C4 DUAL WALL HEAT SHRINK CLEAR 1 1/4" 4' \$4.99 CBDWT3X1-1/4C4 DUAL WALL HEAT SHRINK RED 1 1/4" 4' \$4.99 CBDWT3X1-1/4R4 DUAL WALL HEAT SHRINK RED 1 1/4" 4' \$7.09 CBDWT3X1-1/2BK4 DUAL WALL HEAT SHRINK BLACK 1 1/2" 4' \$7.00 CBDWT3X1-1/2C4 DUAL WALL HEAT SHRINK CLEAR 1 1/2" 4' \$7.00 CBDWT3X1-1/2R4 DUAL WALL HEAT SHRINK CLEAR 1 1/2" 4' \$7.00 CBDWT3X1-1/2R4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' \$7.00 CBDWT3X2BK4 DUAL WALL HEAT SHRINK BLACK 2" 4' \$7.00 CBDWT3X22K4 DUAL WALL HEAT SHRINK CLEAR 2" 4' \$7.01 CBDWT3X2C4 DUAL WALL HEAT SHRINK CLEAR 2" 4' \$13.20 | CBDWT3X1C4 | DUAL WALL HEAT SHRINK CLEAR 1" | 4' | \$4.29 |
| CBDWT3X1-1/4C4 DUAL WALL HEAT SHRINK CLEAR 1 1/4" 4' \$4.99 CBDWT3X1-1/4R4 DUAL WALL HEAT SHRINK RED 1 1/4" 4' \$4.99 CBDWT3X1-1/2R4 DUAL WALL HEAT SHRINK RED 1 1/4" 4' \$5.99 CBDWT3X1-1/2R4 DUAL WALL HEAT SHRINK BLACK 1 1/2" 4' \$7.09 CBDWT3X1-1/2C4 DUAL WALL HEAT SHRINK CLEAR 1 1/2" 4' \$7.09 CBDWT3X1-1/2R4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' \$7.09 CBDWT3X2BK4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' \$7.09 CBDWT3X2EK4 DUAL WALL HEAT SHRINK BLACK 2" 4' \$7.30 CBDWT3X2C4 DUAL WALL HEAT SHRINK CLEAR 2" 4' \$13.20 | CBDWT3X1R4 | DUAL WALL HEAT SHRINKREDK 1" | 4' | \$4.29 |
| CBDWT3X1-1/4R4 DUAL WALL HEAT SHRINK RED 1 1/4" 4' \$4.99 CBDWT3X1-1/2BK4 DUAL WALL HEAT SHRINK BLACK 1 1/2" 4' \$7.09 CBDWT3X1-1/2CK4 DUAL WALL HEAT SHRINK BLACK 1 1/2" 4' \$7.09 CBDWT3X1-1/2CK4 DUAL WALL HEAT SHRINK CLEAR 1 1/2" 4' \$7.09 CBDWT3X1-1/2R4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' \$7.09 CBDWT3X2BK4 DUAL WALL HEAT SHRINK BLACK 2" 4' \$13.20 CBDWT3X2C4 DUAL WALL HEAT SHRINK CLEAR 2" 4' \$13.20 | CBDWT3X1-1/4BK4 | DUAL WALL HEAT SHRINK BLACK 1 1/4" | 4' | \$4.99 |
| CBDWT3X1-1/2BK4 DUAL WALL HEAT SHRINK BLACK 1 1/2" 4' \$7.00 CBDWT3X1-1/2C4 DUAL WALL HEAT SHRINK CLEAR 1 1/2" 4' \$7.00 CBDWT3X1-1/2C4 DUAL WALL HEAT SHRINK CLEAR 1 1/2" 4' \$7.00 CBDWT3X1-1/2R4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' \$7.00 CBDWT3X2BK4 DUAL WALL HEAT SHRINK BLACK 2" 4' \$13.20 CBDWT3X2C4 DUAL WALL HEAT SHRINK CLEAR 2" 4' \$13.20 | CBDWT3X1-1/4C4 | DUAL WALL HEAT SHRINK CLEAR 1 1/4" | 4' | \$4.99 |
| CBDWT3X1-1/2C4 DUAL WALL HEAT SHRINK CLEAR 1 1/2" 4' \$7.03 CBDWT3X1-1/2R4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' \$7.03 CBDWT3X2BK4 DUAL WALL HEAT SHRINK BLACK 2" 4' \$13.20 CBDWT3X2C4 DUAL WALL HEAT SHRINK CLEAR 2" 4' \$13.20 | CBDWT3X1-1/4R4 | DUAL WALL HEAT SHRINK RED 1 1/4" | 4' | \$4.99 |
| CBDWT3X1-1/2R4 DUAL WALL HEAT SHRINK RED 1 1/2" 4' \$7.00 CBDWT3X2BK4 DUAL WALL HEAT SHRINK BLACK 2" 4' \$13.20 CBDWT3X2C4 DUAL WALL HEAT SHRINK CLEAR 2" 4' \$13.20 | CBDWT3X1-1/2BK4 | DUAL WALL HEAT SHRINK BLACK 1 1/2" | 4' | \$7.05 |
| CBDWT3X2BK4 DUAL WALL HEAT SHRINK BLACK 2" 4' \$13.20 CBDWT3X2C4 DUAL WALL HEAT SHRINK CLEAR 2" 4' \$13.20 | CBDWT3X1-1/2C4 | DUAL WALL HEAT SHRINK CLEAR 1 1/2" | 4' | \$7.05 |
| CBDWT3X2C4 DUAL WALL HEAT SHRINK CLEAR 2" 4' \$13.20 | CBDWT3X1-1/2R4 | DUAL WALL HEAT SHRINK RED 1 1/2" | 4' | \$7.05 |
| | CBDWT3X2BK4 | DUAL WALL HEAT SHRINK BLACK 2" | 4' | \$13.20 |
| CBDWT3X2R4 DUAL WALL HEAT SHRINKREDK 2" 4' \$13.20 | CBDWT3X2C4 | DUAL WALL HEAT SHRINK CLEAR 2" | 4' | \$13.20 |
| | CBDWT3X2R4 | DUAL WALL HEAT SHRINKREDK 2" | 4' | \$13.20 |



PRICE

MEDIUM WALL ADHESIVE-LINED HEAT SHRINK TUBING- 4FT STICKS • 3:1 & 4:1 shrink ratio • Shrink temp. 120 °C • UL File E180908 • RoHS compliant • From 5/16" to 3"

MWTA516BK MEC MWTA118BK MEC MWTA1-1/4BK4 MEC MWTA1916BK MEC MWTA2316BK MEC MWTA03BK MEC

| MEDIUM WALL HEAT SHRINK TUBING BLACK 5/16" x 4' | 4' | \$1.01 |
|---|----|--------|
| MEDIUM WALL HEAT SHRINK TUBING BLACK 1 1/8" x 4' | 4' | \$2.95 |
| MEDIUM WALL HEAT SHRINK TUBING BLACK 1 1/4" x 4' | 4' | \$3.00 |
| MEDIUM WALL HEAT SHRINK TUBING BLACK 1 9/16" x 4' | 4' | \$4.05 |
| MEDIUM WALL HEAT SHRINK TUBING BLACK 2 3/16" x 4' | 4' | \$5.30 |
| MEDIUM WALL HEAT SHRINK TUBING BLACK 3" x 4' | 4' | \$7.50 |



HEAVY WALL ADHESIVE-LINED HEAT SHRINK TUBING- 4FT STICKS 3:1 & 4:1 shrink ratio • Shrink temp. 120 °C

• UL File E180908 • RoHS compliant

| HWTA3/8BK4 | HEAVY WALL HEAT SHRINK TUBING BLACK 3/8" x 4' | 4' | \$1.52 |
|--------------|---|----|---------|
| HWTA3/8R4 | HEAVY WALL HEAT SHRINK TUBING RED 3/8" x 4' | 4' | \$1.75 |
| HWTA1/2BK4 | HEAVY WALL HEAT SHRINK TUBING BLACK 1/2" x 4' | 4' | \$2.38 |
| HWTA1/2R4 | HEAVY WALL HEAT SHRINK TUBING RED 1/2" x 4' | 4' | \$2.82 |
| HWTA3/4BK4 | HEAVY WALL HEAT SHRINK TUBING BLACK 3/4" x 4' | 4' | \$3.35 |
| HWTA3/4R4 | HEAVY WALL HEAT SHRINK TUBING RED 3/4" x 4' | 4' | \$3.84 |
| HWTA1-3/8BK4 | HEAVY WALL HEAT SHRINK TUBING BLACK 1 3/8" x 4' | 4' | \$4.66 |
| HWTA1-3/8R4 | HEAVY WALL HEAT SHRINK TUBING RED 1 3/8" x 4' | 4' | \$4.90 |
| HWTA1-1/2BK4 | HEAVY WALL HEAT SHRINK TUBING BLACK 1 1/2" x 4' | 4' | \$5.15 |
| HWTA1-1/2R4 | HEAVY WALL HEAT SHRINK TUBING RED 1 1/2" x 4' | 4' | \$5.90 |
| HWTA1-3/4BK4 | HEAVY WALL HEAT SHRINK TUBING BLACK 1 3/4" x 4' | 4' | \$5.42 |
| HWTA1-3/4R4 | HEAVY WALL HEAT SHRINK TUBING RED 1 3/4" x 4' | 4' | \$6.25 |
| HWTA2-1/8BK4 | HEAVY WALL HEAT SHRINK TUBING BLACK 2 1/8" x 4' | 4' | \$6.03 |
| HWTA2-1/8R4 | HEAVY WALL HEAT SHRINK TUBING RED 2 1/8" x 4' | 4' | \$6.65 |
| HWTA3-3/8BK4 | HEAVY WALL HEAT SHRINK TUBING BLACK 3 3/8" x 4' | 4' | \$9.78 |
| HWTA3-3/8R4 | HEAVY WALL HEAT SHRINK TUBING RED 3 3/8" x 4' | 4' | \$10.71 |
| | | | |



HEAT SHRINK TUBING- 6" BAGGED

SINGLE WALL HEAT SHRINK TUBING- 6" BAGGED Sizes from 1/16" to 1"

2:1 shrink ratio - UL & CSA certified at 600V @ 125°C
 Shrink temp. 90-120 °C - UL File E180908 (except clear)
 Color 5-pack come in:(1) BK, (1) BU, (1) CL, (1) GN, (1) YW
 Color 10-pack come in:(2) BK, (1) BU, (2) CLr, (1) GN, (2) RD, (1) WT, (1) YW
 Black 24-pack has 4 pieces per sizes: 3/32', 1/8', 3/16', 1/4'' 3/8', 1/2''

| HSTBAG1016 | 1/16" x 6" COLOR HEAT SHRINK 10PK | EA | \$0.68 |
|-------------|-----------------------------------|----|--------|
| HSTBAG2016 | 1/16" x 6" BLACK HEAT SHRINK 10PK | EA | \$0.68 |
| HSTBAG10332 | 3/32" x 6" COLOR HEAT SHRINK 10PK | EA | \$0.68 |
| HSTBAG20332 | 3/32" x 6" BLACK HEAT SHRINK 10PK | EA | \$0.68 |
| HSTBAG1018 | 1/8" x 6" COLOR HEAT SHRINK 10PK | EA | \$0.78 |
| HSTBAG2018 | 1/8" x 6" BLACK HEAT SHRINK 10PK | EA | \$0.73 |
| HSTBAG10316 | 3/16" x 6" COLOR HEAT SHRINK 10PK | EA | \$0.85 |
| HSTBAG20316 | 3/16" x 6" BLACK HEAT SHRINK 10PK | EA | \$0.72 |
| HSTBAG1014 | 1/4" x 6" COLOR HEAT SHRINK 10PK | EA | \$0.91 |
| HSTBAG2014 | 1/4" x 6" BLACK HEAT SHRINK 10PK | EA | \$0.91 |
| HSTBAG1038 | 3/8" x 6" COLOR HEAT SHRINK 10PK | EA | \$1.03 |
| HSTBAG2038 | 3/8" x 6" BLACK HEAT SHRINK 10PK | EA | \$1.03 |
| HSTBAG1012 | 1/2" x 6" COLOR HEAT SHRINK 10PK | EA | \$1.15 |
| HSTBAG2012 | 1/2" x 6" BLACK HEAT SHRINK 10PK | EA | \$1.15 |
| HSTBAG1034 | 3/4" x 6" COLOR HEAT SHRINK 5PK | EA | \$1.30 |
| HSTBAG2034 | 3/4" x 6" BLACK HEAT SHRINK 5PK | EA | \$1.30 |
| HSTBAG1001 | 1" x 6" COLOR HEAT SHRINK 5PK | EA | \$1.35 |
| HSTBAG2001 | 1" x 6" BLACK HEAT SHRINK 5PK | EA | \$1.35 |
| HSTBAG24 | ASSORTED BLACK HEAT SHRINK 24PK | EA | \$1.70 |
| | | | |

DUAL WALL HEAT SHRINK TUBING- 6" BAGGED Sizes from 1/8" to 1"

• 3:1 shrink ratio • UL & cUL certified at 600V @ 125°C • Shrink temp. 110 °C

• UL File E180908 (except clear) • RoHS compliant • Black or Red, 1/8" to 1/2" 5 per pack; 3/4" to 1" 3 per pack

| DWHSTBAG2018B | 1/8" x 6" BLACK DUAL WALL HEAT SHRINK 5PK | EA | \$0.75 |
|----------------|--|----|--------|
| DWHSTBAG2018R | 1/8" x 6" RED DUAL WALL HEAT SHRINK 5PK | EA | \$0.75 |
| DWHSTBAG20316B | 3/16" x 6" BLACK DUAL WALL HEAT SHRINK 5PK | EA | \$0.84 |

| PART # | DESCRIPTION | UOM | PRICE |
|----------------|---|-----|--------|
| DWHSTBAG20316R | 3/16" x 6" RED DUAL WALL HEAT SHRINK 5PK | EA | \$0.84 |
| DWHSTBAG2014B | 1/4" x 6" BLACK DUAL WALL HEAT SHRINK 5PK | EA | \$1.09 |
| DWHSTBAG2014R | 1/4" x 6" RED DUAL WALL HEAT SHRINK 5PK | EA | \$1.09 |
| DWHSTBAG2038B | 3/8" x 6" BLACK DUAL WALL HEAT SHRINK 5PK | EA | \$1.24 |
| DWHSTBAG2038R | 3/8" x 6" RED DUAL WALL HEAT SHRINK 5PK | EA | \$1.24 |
| DWHSTBAG2012B | 1/2" x 6" BLACK DUAL WALL HEAT SHRINK 5PK | EA | \$1.55 |
| DWHSTBAG2012R | 1/2" x 6" RED DUAL WALL HEAT SHRINK 5PK | EA | \$1.55 |
| DWHSTBAG2034B | 3/4" x 6" BLACK DUAL WALL HEAT SHRINK 3PK | EA | \$1.70 |
| DWHSTBAG2034R | 3/4" x 6" RED DUAL WALL HEAT SHRINK 3PK | EA | \$1.70 |
| DWHSTBAG2001B | 1" x 6" BLACK DUAL WALL HEAT SHRINK 3PK | EA | \$1.80 |
| DWHSTBAG2001R | 1" x 6" RED DUAL WALL HEAT SHRINK 3PK | EA | \$1.80 |



HEAT SHRINK TUBING KITS - BOXED

SINGLE WALL BOXED • 2:1 shrink ratio • UL & CSA certified at 600V @ 125°C

• 2.5" Black/Red: (60) 1/16", (40) 1/8", (20) 3/16", (18) 1/4", (10) 3/8", (10) 1/2" • 4" Color: Black, Blue, Clear, Green, White, Yellow. Size: (60) 1/16", (35) 3/32", (25) 1/8", (20) 3/16", (10) 1/4", (10) 3/8" • 4" Black: (60) 1/16", (35) 3/32", (25) 1/8", (20) 3/16", (10) 1/4", (10) 3/8"

| HSTBOX158B | HEAT SHRINK BOX 2.5" BLACK x 158PK | EA | \$4.62 |
|--------------|------------------------------------|----|--------|
| HSTBOX158R | HEAT SHRINK BOX 2.5" RED x 158PK | EA | \$4.62 |
| HSTBOX160 | HEAT SHRINK BOX 4" COLORS x 160PK | EA | \$5.54 |
| HSTBOX160BLK | HEAT SHRINK BOX 4" BLACK x 160PK | EA | \$5.54 |
| | | | |

PART # UOM DESCRIPTION DUAL WALL- BOXED • 3:1 shrink ratio • UL & cUL certified at 600V @ 125°C • Shrink temp. 110 °C • 4" Black/Red: (20) 1/16", (20) 1/8", (10) 1/4", (5) 3/8", (5) 1/2", (2) 3/4" DWHSTBOX62B DUAL-WALL HEAT SHRINK KIT 4" X 62 BLACK EA \$9.35 DWHSTBOX62R DUAL-WALL HEAT SHRINK KIT 4" X 62 RED EA \$9.35 SINGLE WALL HEAT SHRINK- MARKER SLEEVES



 3.1 shrink ratio
 UL & CSA certified at 600V @ 125°C UL & MIL Spec print performance • Shrink temp. 90-120 °C • UL File E180908 Available in 100 ft. spools in 1/8" up to 1" ID White: other colors available as special order

| CBHFTTM3X1/8W100 | 3:1 HEAT SHRINK TUBING WHITE 1/8" | C' | \$12.64 |
|-------------------|------------------------------------|----|---------|
| CBHFTTM3X3/16W100 | 3:1 HEAT SHRINK TUBING WHITE 3/16" | C' | \$14.75 |
| CBHFTTM3X1/4W100 | 3:1 HEAT SHRINK TUBING WHITE 1/4" | C' | \$16.76 |
| CBHFTTM3X3/8W100 | 3:1 HEAT SHRINK TUBING WHITE 3/8" | C' | \$21.35 |
| CBHFTTM3X1/2W100 | 3:1 HEAT SHRINK TUBING WHITE 1/2" | C' | \$29.58 |
| CBHFTTM3X3/4W100 | 3:1 HEAT SHRINK TUBING WHITE 3/4" | C' | \$33.20 |
| CBHFTTM3X1W100 | 3:1 HEAT SHRINK TUBING WHITE 1" | C' | \$45.38 |
| | | | |

TERMS & CONDITIONS

All orders are subject to the following terms and conditions. No salesman, sales representative, employee or other party is authorized to bind Thermosleeve-USA by any agreement, warranty, statement, promise or understanding not herein expressed. No modifications shall be binding on Thermosleeve-USA unless the same are in writing and an acknowledgement signed by an executive officer or an executive employee of Thermosleeve-USA.

TO ORDER

To place your order, simply call our Nationwide Toll-Free number. Our sales staff is ready to take your order or to answer your questions from 7:00 A.M. PST to 5:00 P.M. PST. To ensure fast order processing, please have your part numbers, guantities and product descriptions ready before ordering. For your added convenience, take advantage of our 24 Hour Fax Line.

WILL CALL

For local wholesale customers only, Thermosleeve-USA offers Will Call services from 8:00 A.M. to 12:00 P.M. and from 1:00 P.M. to 4:30 P.M. To avoid long waits, please call 24 hours in advance whenever possible. Thermosleeve-USA is located at 12753 Moore St., Cerritos, CA 90703 USA.

TERMS OF SALE

 <u>Thermosleeve-USA</u> requires a \$25.00 minimum order. The minimum order amount is subject to change without notice. The minimum order amount shall be that which is in effect at the time of shipment.

• COD is the quickest and most convenient method preferred by the majority of our cus tomers. Payment method can be: Cash, Certified Check or Company Check (Personal Checks are not accepted). COD Company Check terms are granted at the discretion of Thermosleeve-USA upon receipt of acceptable bank information and a favorable bank account rating

· Credit Card orders are accepted with valid American Express, Master Charge, Discover or Visa cards. Exact freight charges will be added to card orders.

 Open Account Orders are available to qualified companies. Normal terms offered are NET 30 DAYS from date of invoice, with full credit application approval. Normal terms are not subject to change unless otherwise agreed, and or modified in writing and accepted by Thermosleeve-USA.

 <u>Thermosleeve-USA</u> reserves the right, at any time, to revoke any credit card terms extended to customer if customer fails to pay any invoice when due, or, if Thermosleeve-USA's opinion there is a material change in customer's financial condition. Thermosleeve-USA may, at its option, cancel any accepted order if customer fails to meet any invoice when due.

Any company checks returned to Thermosleeve-USA "NOT SUFFICIENT FUNDS" (N.S.F.) can possibly jeopardize any customer's net 30 terms, or COD company check terms. At Thermosleeve-USA's dis cretion any customer having an N.S.F. check returned could have terms reverted to COD CASH for a period of six (6) months. A \$20 service charge will be assessed on all returned checks

CONDITIONS

Order Acceptance: All orders are subject to final approval and acceptance by Thermosleeve-USA. Such acceptance will take the form of a shipment upon the order.

Clerical Errors: Clerical errors are subject to correction.

<u>Compliance with Laws</u>: Thermosleeve-USA intends to comply with all laws applicable to its performance under any order.

Limitation of Liability: Thermosleeve-USA's liability for any claim of any kind shall not exceed the purchase price of goods, or portion thereof, which gives rise to the claim whether such claim shall be for breach of warranty or negligence and whether such claim arises out of, or results from this contract or from the design, manufacture, sale, delivery, resale, installation, technical direction of installation, inspection, repair, operation or use of goods furnished under this agreement. Thermosleeve-USA shall not be liable in any event for special or consequential damages, including but not limited to loss of profits or revenue, loss of use of the goods, or any associated goods, cost of capital, cost of substitute goods, facilities or services, down time costs or claim of customers for such damage

Non-Waiver by Thermosleeve-USA: Waiver by Thermosleeve-USA of a breach of any of these terms and conditions of sale shall not be construed as a waiver of any other breach.

SHIPPING INFORMATION

Thermosleeve-USA makes every effort to ship your order as quickly as possible.

• FOB Thermosleeve-USA warehouse, Cerritos, CA All shipments are made via UPS surface unless otherwise prearranged and authorized by Thermosleeve-USA. When shipments are FOB Cerritos, California, delivery of goods to common carrier or licensed truck shall constitute delivery by customer, and all risk of loss or damage in transit shall be borne by the customer.

FREIGHT OPTIONS

UPS Ground: Max. 70 lbs. per package. UPS 3 Day Select: "Orange Label", 3-day delivery, Continental U.S. UPS 2nd Day Air: "Blue Label", second day delivery, Continental U.S. UPS Next Day Air: "Red Label", next day delivery, Continental U.S. Truck Line: Recommended for large and/or heavy orders.

Others: Federal Express, DHL, USPS Global Express, USPS Priority mail, USPS Express mail.

BACK ORDERS

Thermosleeve-USA will ship back ordered items as soon as they arrive from the manufacturer. Thermosleeve-USA holds all orders for 45 days. Note: Only items valued at \$10 or more will be automatically back ordered. If the value of your item is under \$10, it will show on your invoice as being "temporarily out of stock" and you may reorder the item at a later date, if you choose. Back orders will be sent via the same shipping method as the initial order. No additional surcharges will be added (you pay only the standard chart rate). If sent UPS COD, Thermosleeve-USA will pay any additional COD charges.

MERCHANDISE RETURNS

In the event there is a discrepancy in your order or if you have any questions about the status of your order, call our Customer Service Department. Claims for loss or damage in shipment must be made to the carrier. Other claims for returns, shortages or incorrect shipments, must be made directly to Thermosleeve-USA within seven days. All returned merchandise, including merchandise returned through Will Call must be accompanied by a pre-issued Returned Authorization Number (R/A Number). To obtain your R/A Number, you MUST call our Customer Service Department with a list of EACH ITEM you are returning, and the original invoice number. Your R/A Number must be clearly marked on the outside carton of the returned merchandise. Merchandise must be received in our warehouse within 30 days of issue or your shipment Will Be Refused. Merchandise returned for any reason other than defects or Thermosleeve-USA shipping errors, will be assessed a 15% restocking charge

Freight collect or COD returns cannot be accepted. Disposition of the return will be determined by Thermosleeve-USA and Thermosleeve-USA is not under any obligation to credit, refund or exchange items solely by reason of issuing a Return Authorization. Debit memos issued by customers for returned merchandise, deducted from payments of invoices, will be disallowed.

Merchandise received by Thermosleeve-USA which is damaged due to inadequate packaging by customer or customer abuse or which in Thermosleeve-USA's opinion appears old WILL NOT BE CREDITED OR EXCHANGED.

REFUSED SHIPMENTS

Unless otherwise determined by Thermosleeve-USA, shipments refused by the customer will be considered to be the customer's error and will be noted on customer's account record.

After a second refusal, any terms previously offered to the customer by Thermosleeve-USA could revert to prepaid status at Thermosleeve-USA's discretion, for an undetermined period of time. For refused shipments returned to stock and not reshipped, a 15% restocking fee will be assessed. Freight charges will also be billed back to the customer's account.

All prices, specifications and availability are subject to changes without prior notice and are solely at the discretion of Thermosleeve-USA. Prices charged shall be those in effect at the time of shipment.

CONTACT US

Thermosleeve-USA A David Levy Company, Inc. 12753 Moore St. Cerritos, CA 90703

| NATIONWIDE | (800) 421-3536 |
|------------|----------------|
| ORDER FAX | (800) 421-3538 |
| LOCAL | (562) 404-9998 |
| FAX | (562) 404-9698 |

E-MAIL

sales@Thermosleeve-USA.com

WEBSITES www.thermosleeve-USA.com

LISTOS PARA AYUDARLE

Tenemos un departamento listo para ayudar v servir a todos nuestros amigos de habla hispana.

20

10 01

PRIC

ASTENAL